George is headteacher of a high school and faces the following problem: The students of the last grade want to go on a five-day trip. The five-day trip of students of the last year is a common activity in many countries and students do not want to miss it for any reason. According to the law, at least three teachers, as well as the headteacher, are needed to accompany the students for the school trip. 
George is willing to accompany the students, but none of the other teachers of the school accept to take on this role. Their main argument is that among the students of the third grade there is a group of particularly unruly students and the teachers fear that these students will cause trouble during the trip, which may have legal consequences.  George tries to change the teachers' minds, but they don't seem convinced. 
The students press the principal to give an answer about the realization of the trip in order to contact a travel agency that will organize it. George has not mentioned the problem to the students, but asks for an extension of time until he answers them.
The students suspect that there is a problem and not wanting to miss their trip, they turn to the parents' association to help them and talk to the teachers. The president of the parents' association visits Giorgos and presses him in order to find a solution for the trip as soon as possible. Giorgos tells him that some problems must be solved first,  but he does not want to mention the main problem because, on the one hand,  he doesn’t want to expose his colleagues and on the other because he thinks that in the end he may be able to convince some teachers to join the trip. 
However, he has been very stressed and as a result in the last few days he is constantly irritated and unable to deal seriously with many other problems that he needs to solve at school.
Questions
What are the  particular factors coexisting in the above problem in order to define it as a 'complex problem'?
Can there be solutions and, if so, what could they be? What are the possible effects of each different solution?  Prioritize the above solutions from the best to the less good.
Select one of the recommended solutions and write down the steps that the headteacher needs to take to accomplish it
[bookmark: _GoBack]If you needed to give to the headteacher one piece of advice, what would it be?


